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x F B K D1UAH— B

1. LEEREFHER (#87TD)

(1) EnElE
+ ARIHEFNEE 2.9 A (0.87A) 5.8 A (1.74A) 8.7 A (2.61A)
1k (T2—1—-2) A A A
A
2Kk (T2—7—8) A A A
1R (T2—3—4) A A A
B
2,k (T2—9—10) A A A
1R (T2—5—6) A A A
C
2Rk (T2—11—12) A A A
B SERY-=3- ] | 0.827 ~ 0913 A 157.~ 191 A 235 ~ 287 A
e R R/NEE=209A ;4 29AX30%(0.87A) DE5%LIN
- HhpEFE=3.0~8.7A . BEEX30%ND+E10%LIK
(2) Eh{ERERA BE &/ O~ AT EIEE X 300% 22 (3EIEIE)
AFANAME A B Cc
1R ~ ms ~ ms ~ ms
2R ~ ms ~ ms ~ ms
I EEAE 50msELTF
(3) th =45 14%
1)LEHE=35%., 1 —2RERBETE=&/.LAH200, 500%I=T. | HEEHRELZITE, 1,>,)
BE LA JIN\#8 A B o}
5.8 A A A A
0, DO 00 Do
5 oA (200%) ( %) | ( %) | ( % )
145 A A A A
(500%) ( %) | ( %) | ( %)
e LANZ= 58 A(200%) D, th&(1,1,)35.2 ~ 52.8 %
(FARRE#HBE) IbLA/1=14.5 A(500%) DFF. thEE(1,.71,)31.5 ~ 385 %
2)kE=385%, 1 —2REREE=R/N.LAN500%I-T, LAEEREZIE. 1,<I,)
B LA JIN\#E A B C
145 A A A A
2.9A
(500%) ( %) | ( %) | ( %)
HERE (FRIRESEF) LA71=14.5 A(500%) D, Lk (1,1,)31.5 ~ 385 %
CRIEAA]

AR IRER1,:T2—1-2) 2R EHR(1,: T2—7—8)
‘BH., 1REFRI,:T2—3—4)  2REHK 1,:T2—9—10)
‘CH. 1RER(1,:T2—5—6) . 2RER(,:T2—11—-12)

(X&)
- ()AIF, EEER%ZETRT,

L= L= |

BHE#EX S TEST-M2126-R 4
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e
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: D
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= F A D1UAH— #EEFES #HEEE
2. lRIFER (#87TI)
(1) BEfE
+H ARIHEFNEE 2.9 A (29A) 5.8 A (58A) 8.7 A (87A)
1k (T2—1-2) A A A
A
2Kk (T2—7—-8) A A A
1R (T2—3—4) A A A
B
2,k (T2—9—10) A A A
1R (T2—5—6) A A A
C
2Rk (T2—11—12) A A A
B SERY-=3- i | 276 ~ 304 A 55.1 ~ 60.9 A 82.7 ~ 913 A
| FERAE BEE X 1000% D =5%LIA
(2) ENfERER BE /. O-FENEE x 200% 2% (3[EAIE)
AN\ A B Cc
1R ~ ms ~ ms ~ ms
2k ~ ms ~ ms ~ ms
HEELE 30msLL T (60HzME#%) . 35mskL T (50Hz{E4R)

BHERKX= 4
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2 F A

D1UAH— e

Jm
BH

Jjn

3. E2EHRINEIER (#87TL)

(1) B/NBY ERHAEE 26%
18 ANIHFNEE 29 A (0. 87A)
1R(T2—1-2) A
( %)
A A
2R (T2—7—8)
( %)
1R (T2—3—4) A
( %)
B A
2Rk (T2—9—10)
( %)
1R (T2—5—6) A
( %)
c A
2R (T2—11—12)
( %)

HIERE FRREHMA)

30%+5%(28.5 ~ 31.5 %) LIA

(2) & ER R HAR: R/MEFEME X 300% A5
iz ARIHEFNEE 2.9 A (8.7A)
1R (T2—1-2) %
A
2Kk (T2—7-8) %
1R (T2—3—4) %
B
2,k (T2—9—10) %
1R (T2—5—6) %
C
2Rk (T2—11—12) %

HERE FRREHMA)

13+x2(11 ~ 15 )%LA

(3) =HEMELFHE

AIEHELUS DD 2HEIZ, ZNEN10%ERRESHSE TRET 5,

A ARIHFNEE 2.9 A(8.7A)

A 1R(T2—1-2) %
2Rk (T2—=7-8) %

5 1R (T2—3—4) %
2/ (T2—9—10) %

o 1R (T2—5—6) %
2,k (T2—11—12) %

HERE GFRREHMH)

ZI2f/ZNf=13x2(11 ~ 15 )% LA

H# & # &% X

A

t

TEST-M2126-R.4
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2= F A D1UAH— #EEFES #HEEE
4. NEREBMBREBER (#87T0)
(1) B1EfE
iz ARIHEFNEE 29 A (8.7A) 58 A (17.4A) 8.7 A (26.1A)
A 1R (T2—1-2) A A A
=2k (T2—7—-8)
5 1R (T2—3—4) A A A
=2Kk(T2—9—10)
c 1R (T2—5—6) A £ A
22K (T2—11—12)
B SERY-=3- | 827 ~ 9.13 A 16.6 ~ 182 A 248 ~ 274 A
| ERAE B FE{E X 300%D +5%LLH
(2) Bh{ERERE BE &/, 0=l =L, ATENEE x 300% 2% (SEAIE)
AN\ A B C
1R =>2K ~ ms ~ ms ~ ms
HERAE 25msklTF
(3) tE &= 4514
1HE=35%, 1 —2REHRBEE=HK/I. LAAS00%IZT. | BEEHREEZRE, I,>1,)
BE L AJIN\#8 A B Cc
145 A A A A
2.9A
(500%) ( %) | ( %) | ( %)
I EREE (FRIRESH) ILA71=14.5 A(500%) OB, tL#E(1,1,)9.28 ~ 13.92 %
2)kFE=35%, 1 —2REREE=R/N.LAN500%I-T., LAEEREZIE. 1,<I,)
BE I, A J3\#8 A B C
145 A A A A
2.9A
(500%) ( %) | ( %) | ( %)
YRR (FRBEEGHE) LA$1=145 A(500%) DB, EE3(1,.71,)9.28 ~ 1392 %
(RIEAA] =AM, 1RERI,:T2—1-2) . 2REFHK1,:T2—7—8) CEE] - ( )RIE HEWRETRT,

‘B, 1REHR1,:T2—3—4)  2REH(,: T2—9—10)
‘CH.TREFR1,:T2—5—6). 2RER([,:T2—11—12)

L= L1 |

BHERKX= 4

TEST-M2126-R.4
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xFF A

D1UAH—

5. ZH)EXR (#87TS)

(1) BEfE
iz ARIHEFNEE 2.9 A (0.783A) 5.8 A (1.566A) 8.7 A (2.349A)
1Kk (T2—1-2) A A A
A
2Kk (T2—7-8) A A A
1K/ (T2—3—4) A A A
B
2,k (T2—9—10) A A A
1K/ (T2—5—6) A A A
C
2Rk (T2—11—12) A A A
rRREEHE 0.744 ~ 0.822 A 1410 ~ 1.722 A 2115~ 2583 A
e w=/NEE=209A 2.9A %X 27% (0.783A) D +=5%LIA
& HhDEFE=3.0~8.7A BEEX27%ND+10%LLA
(2) Eh{ERERA B /. O FFENEE x 300% 2% (3[EAIE)
AFANAME A B Cc
1R ~ ms ~ ms ms
2 ~ ms ~ ms ms
| EEE 30msLLTF

BHERKX= 4

TEST-M2126-R.4
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2 F A D1UAH— #EEFES HEgEFES
[#BIEH]
1. &8
Ef E AFHE HIRE 8 HIFE B HIE
CT2R(A%E) mV VA
1R CT2Xk(B%8) 8.7 A 0.8 VA mV VA
CT2R(C#8) mV VA
CT2R(AFR) mV VA
2R CT2X&(B#H) 8.7 A 0.8 VA mV VA
CT2k(C#8) mV VA
I EIR 110 V 9 W mA W
HIEEE AHEDT10% LT
2. ERHFARER HIEHERAL. BT, LRICTHAEEZHERT 5, HIE
3. RHIEMERER AFIBEICTRER. ERHHEERT S, FIE
4. SUTTFRE SUTTAMITIARILRRERERT S, HIE
5 BERAKAR EREREERHEIME. ARSEICTEREDENELHIET S, FIE

B E#EX S TEST-M2126-R 4
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